TPC eficiency. B+ (5, = 9.2 GeV. pim, 0-10% TPC effcioncy, Bi+Bi, 5, = 9.2 GeV. pip, 0-10%

TRC efficiency, Bi+Bi, {5, = 9.2 GeV. pip, 10-20%

TP effcency, Bi+B iy, = 9.2 GeV, pim, 20-305% TRC efficency, Bi+Bi, {5, = 9.2 GeV., pip, 20-30%

TRC efficiency, Bi+Bi, {5, = 9.2 GeV, pip, 30-40%

TRC efficiency, Bi+Bi,f5, = 9.2 GeV, pip, 40-60%

TC eficency, Bi+Bi, {5, = 9.2 GeV, km, 0-10

TRC efficiency, Bi+Bi, {5y

2GeV, km, 10.20%

TRC efficiency, Bi+Bi, {5, = 9.2 GeV, km, 20-30%

TRC efficency, Bi+Bi,fSy,

2 Gev, k, 40-80%

TPC efficiency, BivBi, {5, = 9.2 GeV. kp, 0-10%

TPC eficency, Bi+Bl o, = 9.2 GeV, kp, 10209

TPC eficency, Bi+Bi Y = 9.2 GeV, kp, 2030%

TRC efficiency, Bi+Bi.|S,, = 9.2 GeV, p, 0-10%

TPC efficiency, Bi+Bi.\y, = 9.2 GeV., d, 0-10%

TPC effciency. Bi+Bi V5.,

TPC efficioncy, BF+Bi Y5,y = 9.2 GeV, d, 20.30%

TP effiiency, B+, {5, = 9.2 GeV, 1, 0-10%

TPC effciency, BB, {5, = 0.2 GeV., Hes, 0-10%

TPC effcency. Bi+B. 5, = 9.2 GeV, Hed, 40-80%

R\‘m i

TPC efficincy, Bi+Bi {5, = 8.2 GeV. Hed, 0-10%

hr.;

TPC effciency, B, 5, = 9.2 GeV, Hed, 20.305%




TOF effcency. Bi+B. {5, = 9.2 GeV. pim, 0-10% ToF effiiency, B+, = 9.2 GeV, pip, 0-10% TOF effcency, Bi+B1.{5,, =9.2 GeV, km, 0-10% ToF effciency, Bi+Bi {5, = 9.2 GeV, kp, 0-10% TOF efficiency, Bi+Bi.|Fyg = 9.2 GeV. p, 0-10% TOF effcency, Bi+Bi {5, = 9.2 GeV. d, 0-10% “ToF efficiency, BiBi.S,,, = 9.2 GeV, 1, 0-10% TOF effcency. BivBi.fo, = 9.2 GeV, He3, 0-10% TOF effciency. BitBL. {5, = 9.2 GeV. Hed, 0-10%

TOF efficiency, Bi+Bi, 5, = 9.2 GeV, km, 10-20% “TOF efficency, Bi+B 5, = 9.2 GeV, kp, 10208

TOF efficiency, Bi+Bi, 5, = 9.2 GeV, km, 20-30% TOF efficency, Bi+Bi 5, = 9.2 GeV, kp, 20-30% ToF effciency, BivE, (5, = 9.2 GeV, 6, 20-30%.

ToF efficiency, Bi+Bi, g, = 9.2 GEY, km, 30-40% “ToF efficency, Bi+Bi, (G = 9.2 GeV, kp, 30405

ToF effciency, Bi+Bi, 5, = 9.2 GeV, km, 40-80% “ToF effiiency, Bi+Bi 5, = 9.2 GeV, kp, 40-80%




PID effiiency, BB, {5, = 9.2 GeV, pm, 0-10% PID effciency, Bi+Bi. (5, = 9.2 GeV, pp, 0-10% PID efficiency, BivBi.Sy, = 9.2 GeV, km, 0-10% PID eficiency, Bi+Bi. 5, = 9.2 GeV, kp, 0-10% PID efficency, Bi+Bi.fs,,, = 9.2 GeV, p, 0-10% PID efficiency, BiBi S, = 9.2 GeV, d, 0-10% PID efficiency, Bi+Bi 5, = 9.2 GeV, t, 0-10%. PID effcincy, BitBi {5, PID efciency, BisBl {5, = 9.2 GeV, Hed, 0-10%

w80

PID effciency, Bi+B1. 5, = 9.2 GeV, k. 10-20% PID effiiency, Bi+Bi. 5y, = 9.2 GeV, d, 10-20%

- 10 1 2 A
y y

PID effcency, Bi+B, {5, = 9.2 GeV, pim, 20-30% PID efficiency, Bi+Bi, 5, = 9.2 GeV. pip, 20-30% PID efficiency, Bi+Bi, 5, = 9.2 GeV, km, 20-30% PID efficiency, Bi+B,{5., = 9.2 GeV, kp, 20-30%. PID effciency, BH+B1 {5,

- 1 i i
21 o 12
y y y

PID efcency, BB, fo, = 9.2 GeV. pip, 30-40% PID ey, BB fon, = 9.2 GeV, km, 30-40%

E 10 1 2
y y y

PID efficency, Bi+Bi, {5, = 9.2 GaV, pim, 40-80% PID efficiency, Bi+Bi, 5, = 9.2 GeV, km, 40-80% PID efficiency, Bi+Bi 5 = 9.2 GeV, t, 40-80%. PID effciency, BH+81{5, = 8.2 GoV, Hed, 40-80%. PID effciency, BH+B15, = 8.2 GoV. Hed, 40.80%.

|




DCA effciency, BivB, {5, = 9.2 GeV, pim, 0-10%

DCA effcency, Bi+Bi {5 = 9.2 GeV. pip, 0-10%

DA efclency, ivBi o, = 9.2 GeV. pip, 10-20%

DA effciency, B+,

'DCA efficiency, BH+B1{5, = 9.2 GeV, pip, 2

'DCA efficiency, Bi+Bl {5y, = 9.2 GeV, pip, 30-40%

'DCA efficiency, Bi+B1{Sy, = 9.2 GaV., pip, 40-60%

DCA efcency, Bi+Bi {5, = 9.2 GeV. km, 0-10%

- 1 0 1 2
y

DA effciency, BB, = 9.2 GeV, ki, 10-20%

- 10 1 2 A
y

'DCA efficiency, Bi+BI{&y, = 9.2 GeV, km, 20-30%.

- 1 0 1 2
y

'DCA efficiency, Bi+B1{5, = 9.2 GeV, km, 30-40%.

- 1 0 1 2
y

'DCA efficiency, Bi+B1{5,, = 9.2 GeV, km, 40-80%.

- 1 0 12
y

DCA efcency, Bi+Bi 5, = 9.2 GeV, kp, 0-10%

DCA efficiency, Bi+BV5,, = 9.2 GeV, kp, 1020%

'DCA effciency, Bi+Bi 5y, = 9.2 GeV., kp, 20-30%

DA efficiency, BisBif5,y

y

-1 0 12

DCA effcincy, Bi+Bi,[5, = 9.2 GeV. p, 0-10%

DCA efficiency, Bi+Bio, = 9.2 GeV, p, 10-20%

DCA efficiency, Bi+BiS = 9.2 GeV, p, 20.30%

DCA efficiency, Bi+Bi, = 9.2 GeV, p, 30-40%

DCA efficiency, Bi+Bi.,q, = 9.2 GeV, d, 0-10%

DCA effciency, B+, 5 = 9.2 GeV. £, 0-10%

'DCA effclency, Bi*Bi 5, = 9.2 GeV, 1, 10-20%

DCA efficiency, Bi+Bi,, = 9.2 GeV, d, 20.30%

'DCA efficlency, Bi*Bif5,, = 9.2 GeV, , 20-30%

'DCA effciency, BisBi oy, = 9.2 GEV, 1, 30-40%

DCA effiiency, BB 5, 'DCA efficency, Bi+Bi G, = 9.2 GEV, 1, 40-60%

DCA effcency, Bi+Bi {5, = 9.2 GeV, He3, 0-10%

DCA effciency, B1+Bi 5, = 9.2 GeV, Hes, 10-20%

DA efcienc. 13 fa, = 5.2 eV, Hed, 20-30

DA effciency, B+, {5, = 9.2 GeV, Hed, 30.40%

'DCA eficincy, B1+Bi {5y, = 9.2 GBY, Hed, 40-80%

DCA efficiency, Bi+Bi.fFrg, = 9.2 GeV, Hed, 0-10%

&

'DCA effciency, B1+B15,,, = 9.2 GeV, Hed, 20.30%

DA effciency, B+,

DCA effciency, B+ {5y,

2GeV, Hed, 30-40%

2GaV, Hed, 40.80%.

|




PID contaminaton, Bi48i5 = 9.2 GeV, pim, 0-10%

PID contaminaton, Bi48i 5, = 9:2 GeV, p, 0-10%

PID contarminaton, Bi48i 5y, = 9:2 GeV. km, 0-10%

PID contaminaton, BivBi5,= 9.2 GeV, km, 1020%

PID contaminaton, BivBi5,,= 9.2 GeV, km, 20-30%

PID contaminaton, Bi4E1 5 = 9.2 GeV, km, 30-40%

PID contaminaton, BI+815, = 9.2 GeV, km, 40-50%

PID contamination, BBy, = 9.2 GeV. kp, 0-10%.

PID contaminaton, Bi+B1 5., = 9.2 GeV, kp, 4080%

PID contamination, BisBifs,, =32 GeV. p 0-10%

PID contamination, BisBiys,, =82 GeV. 0, 0-10%

PID contamination, Bi+Biys,,, = 9.2 G

y

PID contaminaiion, Bi+Bi. {5, = 9.2 GeV, 1, 0-10%

PID contamination,Bi+Bifi,, = 92 GeV,  1020%

PID contamination, Bi+Bi,, = 9.2 GeV, , 30-40%

o

PID contamination, Bi+BiS,, = 9.2 GeV, , 40.80%

y

PID contaminaton, 1485,y = 9.2 GeV, Hes, 0-10%
1
f H
PID contarminaton, Bi+Bi, = 9:2 GeV, He3, 10-20%
PID contarminaton, Bi+Bi, = 9.2 GeV, He3, 20-30%

PID contarminaton, Bi+BIYG,, = 9.2 GeV, He3, 30-40%

PID contaminaton, BH+B1Y,, = 5.2 GeV, He3, 40.80%

PID contaminaton, 1485y = 9.2 GeV, He4, 0-10%

PID conarmintion, BisBi 5y, = 9:2 GeV, Hed, 10-20%

2 - o 1 2
y

PID conaminaion, G135, = 2 GeV, Hed, 20.30%

2 - o 1 2
Yy

PID conaminaton, Bie 5, = .2 GeV, Hed, 30-40%

4
ZD
1
° -2 - o 1 2

y

PID contaminaton, Bi+B1[5, = 9.2 GeV, Hed, 40.80%

4

3

2

1D

° 2 - o 1 2
Yy




b, comecton, 1488, = 8.2 GeY, Hed, contaly 0-10%.

b, cortecion, BBl &, = 9.2 GeV, pm convaly 0-10%. i, p, correcion, Bi+Bi &, = 9.2 GeV, km,cenvralty 0-10% p, cortecton,Bi+B1 5, = 5.2 GeV, kp,centaly 0-10% b, cortecton, Bi+Bi = 92 GeV. p,centaliy 0-10% b, correcion, Bi+B1 = 9.2 GeV, d, centay 0-10% P, correcion, Bi+Bi 5, L 9.2 GeV, He3, convaly 0-10%.

ol

' cortecion. it {5, = 5.2 G, . cenralty 10:20%

[ Sy S ——y

Gev. k9, convaty 40800,




b, <05, By

5y 1< 05, BB, = 9.2 GeV. pm,cenaty 1020%

7,1 <05, BivBi g, = 9.2 eV, p,conualty 0-10%

25

0, 1<05, BB,

9,105, BBy 5.2 Gk, canraty 010%

0 05 1 15 2 25 3 35
b, Gevic

5, 1 <05, BivBi iy = 0.2 GaV, km. ey 20.30%

3. 11 <05, BvBi = 92 GeV, kp,convalty 0-10%

8p,.1<05. 1815y,

B5,.b1<05, B fo =92 GeV. p. ceraty 2030%

85,1 <05, BB {5, =92 Gev. . convabty 304056

55,1 <05, BB {5, =92 GeV, p, convabty 40505

7,105, BisBi By, = 9.2 GV, d, contally 0-10%

25

335
b, Gevic

5, 111<05, BB &, =02 GaV, . convalty 10200

3 35
p,, Gevic

5,.1< 05, 1B {92 GeV. d. cenraty 2030%

3 35
b, Gevic

5,11 <05, BivBL {5y, =92 Gav. . cenrabty 3040

5, b1 <05, 8481 = 52 GeV, L convally 0-10%

5, 1<05, BeBiE, = 8.2 Gev. . conalty 10:20%

57, 1<05, BeBi By, = 9.2 GV, L cenialty 20-30%

25 3 35
b, Gevic

55, 105, itBifiy, = 92 Gev, . convaiy 3040%

5, Bl = 9.2 GV, Hes, centaty 0-10%

57, <05, BB [, = 9.2 Gav. Hed, sy 10.20%

3 35
b, Gevic

55,11 <05, BB 5, = .2 Gov. Hed, conalty 20.30%

57,1 <05, BB e, = 9.2 Ga. Hed, carraty 0-40%

57,1 <05, BB e, = 9.2 GaV. Hed, ety 40-60%

55,1105 B4BL 5= 92 Gov. Hod,cenvalty 0-10%

335
p,. Gevic

5, 1 <05, BioBi i, = 9.2 GeV. et caty 10-20%.

3 35
b, Gevic

5, <05, ivBi i, 0.2 GeV. Hed camaty 20-30%.

3 35
b, Gevic

55, <05, BivBi i, 9.2 GoV. Hed, ity 20-40%.

25 3 35
p,. Gevic

5, b <05, BieBi, = 0.2 GV, Hod, conally 4080%.




55, b1 <05, BBk, = 0.2 GeV, pm conualty 0105 55, b <05, BB fRy =92 GoV, o, centaiy 010% 5, b1<05, BBy T <05, BBi 5, = 92 GeV, k. 85, <035 Bis0 Ry = 9.2 G, . conralty 020% 85, D1 <05, BisB i, = 9.2 G, . conity 010% 59,1 <05, BieB i = 9.2 G, 1. conalty 0107 < = B, <05, 4B =52 . es,cntely 0107

+ . .
- ...+ g - n -

2. 2.
p Bevie » ° spy‘ngV/c ° apf%févm p Kevie

5y 1< 05, BB, = 9.2 GeV. pm,cenaty 1020% 55,1 <05, BB, = 5.2 GV, i, convalty 1020% 5, <05, BoBi oy y x 5 = B5,.b1<05, i fo = 9.2 GeV. p. coraty 1020% Bp,.b1<05, B Yoy 57, 11<05, BieBiiy =92 <05, BB, = 5, 1 <05, BioBi i, = 9.2 GeV. et caty 10-20%.

1 ! ! X 15
gl
» : i Jfos
0
X X X 05|

X 0 05 1 15 2 25

3 35 X K 3 35 5 1 3 35 3 35 3 35
P, Gevic » p,, Gevic p HKove p HKovie N b, Gevic

55y D1 <05, BBy .2 GeV. i, conralty 2030 . = p— Sy D105 BB = 0.2 Gov, . iy 20300, S5y b1<05, Bl i = 92 GaV, . conaly 2030 55, <05, BBl oy, 55, b1 <05, By = 0: = 5, b1 <05, BB = 0.2 GoV,Hod, crtalty 2030%,

1 15 2 25

p Hevic

55,11 < 05, BB, = 9.2 GV, pim,conraty 2040% ap"mtus‘mm.ﬁzszsnv‘mp,umn-ysrwm <05, ~o2cev, B, <05, BiBi o, = 9.2 GaV. . convally 30400 . b1<05, Bivsl 4. 5, <05, swr-ezseum.-ysw'

. . . . . 15
A A ‘ 5 : s
= -‘¢0¢+o = ooes’ !

. . 3 35 05 1 15 2 25 3 35 . ! .. 3 35
p Bovie . p Lovie 3 p Hevic p Kovic

30, b1<05, BB, X 57, 1< 05, BB = 9.2 GV, i, coniraty 4050% 36, bi <05, BiBiNEL= . BieBi\E, =92 6oV, . 1 <05, BisBi i =92 Gev. <0, =926ev.d. 5,1 <05, BieBi 5, = 8.2 G,  cialty 40-80% 30,1 <05, BB 5, = 2 Gov. Hed, conalty 40:80%

.05 -




Uncorrected, Bi+Bi, {5, = 9.2 GeV, pim, 0-10% Uncorrected, Bi+Bi, (5, = 9.2 GeV, pip, 0-10% Uncorrected, Bi+Bi, {5 = 9.2 GeV, km, 0-10% Uncortected, Bi+Bi, {5y Uncortected, Bi+Bi, {5, = 9.2 GeV, p, 0-10% Uncortected, B+Bi. {5y, Uncorrected, Bi+B. {5, = 9.2 GeV, 1, 0-10% Uncorected, B+, &, = 3.2 GV, He3, 0-10% Uncorrected, Bi+8i. {5,

Uncortected, Bi+Bi, 5, = 9.2 GeV, pip, 10-20% Uncorrected. BisBi (g, = 9.2 GeV. Hed, 10-20% Uncorrected, BisBi. [y, = 9.2 GEV. Hed, 10-20%

i

Uncortected. BivBi Yo, = 9.2 GeV. kp, 20.30% Uncortected, BisBi,fo, = 9.2 GaV, p, 20-30% Uncorrected, BisBi (o, = 9.2 GeV, 1, 20-30% Uncorrected, BivBl. Vo, = 9.2 GeV, He3, 20.30%

y

Uncortected, BivBi, Gy, = 9.2 GeV, km, 40-60% Uncorrected, Bi+BI, (5., = 9.2 GeV, Hed, 40.80%

Uncorrectd, Bi+Bl {6, = 9.2 GV, He3, 30-40% Uncorrected, BivBl, fo, = 9.2 GeV, Hed, 3040%




Cortected, Bi+B, {5, = 9.2 GeV, pim, 0-10%

Cortected, BivE, fog, = 0.2 GeV, pim, 10-20%

Cortected, BivE, fog, = 5.2 GeV, pm, 20-30%

‘Corected, BB, Vo, = 9.2 GV, pm, 30-40%

‘Corected. BB, Vo, = 9.2 GEV, pim, 40-60%

‘Corrected, Bi+Bi, 5= 9.2 GeV, pip, 0-10%

Corrected, Bi+B, {5, = 9.2 GeV, km, 0-10%

Cortecied, Bi*Bi, £y, = 8.2 GeV, kp, 0-10%

‘Corrected, Bi+Bi, Sy = 9.2 GeV, p, 0-10%

Corrected, Bi+Bi, Sy, = 9.2 GeV, d, 0-10%

‘Corrected, Bi+Bi, {50, =

Corrected, Bi+Bi, (S,

.2 GeV, d, 20-30%

2GeV, d, 40-80%

Corrected, Bi+Bi. |5y = 9.2 GeV. , 0-10%

‘Corrected, BB, fo, = 9.2 GeV, 1, 10.20%

‘Corrected, BB, fs, = 9.2 GeV, . 20-30%

Corected, Bi+B, {5, = 9.2 GeV, He3, 0-10%

Cortected, BV, [5y,

Cortected, Bt 5

Corrected, Bi+B

=

2 GeV, He3, 2030%

Corrected, Bi+Bi, {5, = 9.2 GeV, Hed, 0-10%

Cortected, BB, foy

Corrected, B+Bi. o,

Ty

Corrected, Bi+Bi, 5




